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TNPSC GROUP I test batch – 2020 
TEST X – CURRENT AFFAIRS (MARCH TO AUGUST 2020) AND 

APTITUDE AND MENAL ABILITY 
 

1. Which state recently passed resolution to conduct a caste-based census? 
a. Kerala  b. Bihar  c. West Bengal  d. Odisha 
khepyj;jpy; rhjpthhp fzf;nfLg;ig elj;Jtjw;fhd jPh;khdj;ij rkPgj;jpy; epiwNtw;wpa 
khepyk; vJ? 
a. Nfush  b. gPfhh;  c. Nkw;F tq;fhsk;  d. xbrh 

 
2. What is the name of the recently launched scheme that aims to provide nutritional support to 

pregnant women and adolescent girls? 
a. Pradhan Mantri Suposhit Yojana  b. Suposhit Maa Abhiyan 
c. Suposhit Janani Yojana   d. Suposhit Beti Abhiyan 
fh;g;gpzpg; ngz;fs; kw;Wk; tshpsk; ngz;fSf;F Cl;lr;rj;J toq;Ftjw;fhf rkPgj;jpy; 
njhlq;fp itf;fg;gl;l jpl;lj;jpd; ngah; vd;d? 
a. gpujkhpd; ed;F Cl;lkspf;Fk; jpl;lk;  
b. jha;f;F ed;F Cl;lkspf;Fk; gpur;rhuk;  
c. ed;F Cl;lkspf;Fk; [ddp Nah[dh  
d. Cl;lr;rj;J FiwghL gpur;rhuk;  
 

3. Which state has recently launched a digital literacy programme titled ‘I am also digital’? 
a. Odisha  b. Kerala  c. Karnataka  d. Tamil Nadu 
‘ehDk;$l b[pl;ly;jhd;’ vd;W jiyg;gplg;gl;l xU b[pl;ly; fw;wy; jpl;lj;ij rkPgj;jpy; 
mwpKfk; nra;j khepyk; vJ? 
a. xbrh  b. Nfush  c. fh;ehlfh  d. jkpo;ehL 

 
4. ‘NIGHA’, a mobile application to curb election malpractices, is an initiative of which Indian 

state? 
a. Punjab  b. Rajasthan  c. Gujarat  d. Andhra Pradesh 
Njh;jy; KiwNfLfis xLf;Ftjw;fhf> ‘NIGHA’ vd;w xU ifNgrp nraypia njhlq;fp 
itj;jJ ,e;jpahtpd; ve;j khepyk;?  
a. gQ;rhg;  b. uh[];jhd;  c. F[uhj;  d. Me;jpug;gpuNjrk; 
 

5. World Health Organization (WHO) declared Covid-19 as a pandemic. Which disease was 
previously declared as pandemic by WHO? 
a. H1N1 influenza  b. HIV   c. Swine Flu  d. Spanish Flu 
cyf Rfhjhu epWtdk; Nfhtpl;-19I xU ngUe;njhw;W vd;W mwptpj;Js;sJ.  ,jw;F Kd;ghf 
ve;j Nehia cyf Rfhjhu epWtdk; ngUe;njhw;W vd;W mwptpj;jJ?  
a. H1N1 ,d;;g;Snad;rh  b. vr;Itp  c. gd;wpf;fha;r;ry;  d. ];ghdp~; g;S 
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6. ‘World Cities Summit’ is a global biennial conference hosted by which country? 
a. United Kingdom b. Japan  c. Singapore  d. United Arab Emirates 
‘cyf ngUefuq;fs; cr;rpkhehL’ (World Cities Summit) vd;gJ ,uz;lhz;LfSf;F xUKiw 
eilngWk; cyfshtpa cr;rp khehL MFk;.  ,ij elj;Jk; ehL vJ? 
a. ,q;fpyhe;J    b. [g;ghd;  c. rpq;fg;g+h;    d. If;fpa muG vkpNul;Lfs; 
 

7. Which state recently announced that the Sanitary Personnel employed by urban and rural 
civic bodies shall be called ‘cleanliness workers’? 
a. Kerala  b. Tamil Nadu c. Karnataka  d. Maharashtra 
efh;g;Gw kw;Wk; fpuhkg;Gw eph;thf mikg;Gfshy; epakdk; nra;ag;gLk; Jg;GuTg; gzpahsh;fs; 
‘J}a;ikg; gzpahsh;fs;’ vd;W miof;fg;gLthh;fs; vd;W rkpgj;jpy; ve;j khepyk; mwptpj;jJ? 
a. Nfush  b. jkpo;ehL  c. fh;ehlfh  d. kfhuh~;buh 
 

8. First global Artificial Intelligence Summit RAISE 2020 was held in 
a. France  b. United States  c. India  d. United Arab Emirates 
‘RAISE 2020’ vd;w cyfpd; KjyhtJ nraw;if Ez;zwpT cr;rp khehL ve;j ehl;by; 
ele;jJ? 
a. gpuhd;]; b. mnkhpf;fh   c. ,e;jpah    d. If;fpa muG vkpNul;Lfs; 
 

9. What is the name of the Central Government’s economic package for the poor to fight the 
coronavirus pandemic and lock-down? 
a. Prime Minister Gareeb Kalyan Scheme 
b. Prime Minister Annadata Scheme 
c. Prime Minister KISAN Scheme 
d. Prime Minister Gareeb Suraksha Scheme 
nfhNuhdh itu]; ngUe;njhw;W kw;Wk; nghJ Klf;fj;ij vjph;nfhs;Sk;nghUl;L Vio 
kf;fSf;fhf kj;jpa muR mwptpj;Js;s nghUshjhu njhFg;gpd; ngah; vd;d? 
a. gpujkhpd; Viofs; eyj; jpl;lk; 
b. gpujkhpd; md;djhdj; jpl;lk;  
c. gpujkhpd; fprhd; jpl;lk;  
d. gpujkhpd; Viofs; ghJfhg;Gj; jpl;lk;  

 
10. Operation Namaste’ is the initiative of which Indian armed force to combat the spread of 

COVID-19 in the country? 
a. Indian Army    b. Indian Navy 
c. Indian Air Force   d. Indian Coast Guard 
‘MgNu~d; tzf;fk;’ (Operation Namaste)  vd;gJ ehl;by; Nfhtpl;-19 gutiyf; 
fl;Lg;gLj;Jtjw;fhf ,e;jpahtpd; ve;j MAjg;gil nfhz;L te;j jpl;lk; MFk;?  
a. ,e;jpa uhZtg;gil   b. ,e;jpa fg;gw;gil 
c. ,e;jpa tpkhdg;gil   d. ,e;jpa flNyhu fhty; gil 

 
11. For the first time in 2020, April 5 is observed as which day by the United Nations? 

a. International day of conscience b. International day of promotion of love 
c. International day of peace  d. International day of promotion of culture  
2020Mk; Mz;by; Kjd; Kiwahf Vg;uy; 5k; Njjp If;fpa ehLfs; mikg;gpdhy; vd;d 
jpdkhf mDrhpf;fg;gLfpwJ? 
a. rh;tNjr kdrhl;rp jpdk;  b. rh;tNjr md;ig tsh;f;Fk; jpdk; 
c. rh;tNjr mikjp jpdk;  d. rh;tNjr fyhr;rhu Nkk;ghl;L jpdk;  
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12. What is the tagline for World Health day 2020? 
a. Support doctors and health professionals 
b. Support nurses and midwives 
c. Support health care 
d. Contribute to health care  
cyf Rfhjhu jpdk; 2020d; Fwpr;nrhy; thp vd;d? 
a. kUj;Jtg; gzpahsh;fs; kw;Wk; Rfhjhu ty;Yeh;fSf;F MjuT mspg;Nghk;; 
b. nrtpypah;fs; kw;Wk; jhjpah;fSf;F MjuT mspg;Nghk; 
c. Rfhjhug; guhkhpg;Gf;F MjuT mspg;Nghk; 
d. Rfhjhug; guhkhpg;Gf;F gq;fspg;Nghk;  
 

13. An initiative of `Arogya setu interactive voice response system (IVRS) service’ has been 
launched by the centre in association with which state government? 
a. Odisha   b. Rajasthan  c. Kerala  d. Tamil Nadu 
ve;j khepy murpd; MjuTld; kj;jpa muR ‘MNuhf;fpa NrJ ItpMh;v]; (interactive voice 
response system) Nritiaj; njhlq;fp itj;jJ?  
a. xbrh   b. uh[];jhd;  c. Nfush  d. jkpo;ehL 
 

14. ‘Jeevan Shakti Yojana’, a scheme to encourage urban women to make masks, is an initiative of 
which Indian state / UT? 
a. Maharashtra  b. Madhya Pradesh  c. Odisha  d. Chhattisgarh 
efh;g;Gwg; ngz;fs; Kff; ftrq;fisj; jahhpg;gij Cf;Ftpg;gjw;fhf ‘caph; rf;jp jpl;lk;’ 
(Jeevan Shakti Yojana) vd;w xU jpl;lj;ij ve;j khepy muR / a+dpad; gpuNjr muR  
njhlq;fp itj;jJ?  
a. kfhuh~;buh  b. kj;jpag; gpuNjrk;  c. xbrh  d. rj;jP~;fh; 
 

15. Thangjam Dhabali Singh of Manipur has been conferred the ‘Order of Rising Sun’. Which 
country constituted the award? 
a. United Kingdom b. Japan  c. Saudi Arabia  d. Germany 
kzpg;g+iur; Nrh;e;j jq;[k; jghyp rpq; ‘Mh;lh; Mg; iurpq; rd;’ vd;w gl;lk; toq;fp 
nfsutpf;fg;gl;Ls;shh;.  ,e;j tpUij ve;j ehL Vw;gLj;jpaJ? 
a. ,q;fpyhe;J  b. [g;ghd;  c. nrsjp mNugpah  d. n[h;kdp 
 

16. What is the name of the operation launched by the Indian Navy, to repatriate the Indian 
citizens stranded in other countries? 
a. Samudra Setu   b. Welcome Back 
c. Navy Setu   d. Samudra Shakti 
,ju ehLfspy; rpf;fpj; jtpf;Fk; ,e;jpa Fbkf;fis jpUk;g mioj;J tUtjw;fhf ,e;jpa 
fg;gw;gil njhlq;fpa jpl;lj;jpw;F vd;d ngah;? 
a. rKj;jpu NrJ   b. nty;fk; Ngf; 
c. Netp NrJ   d. rKj;jpu rf;jp 

 
17. ‘Flying Bullets’ is associated with which armed force of India? 

a. Indian Army   b. Indian Navy   
c. Indian Air Force  d. Indian Coast Guard 
 ‘gwf;Fk; Jg;ghf;fpf; Fz;Lfs;’ (Flying Bullets)> ,e;jpahtpd; ve;j MAjg;gilAld; 
njhlh;GilaJ?  
a. ,e;jpa ,uhZtk;  b. ,e;jpa flw;gil   
c. ,e;jpa tpkhdg;gil  d. ,e;jpa flNyhu fhty; gil 
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18. When is International Everest day celebrated across the world? 
a. May 29  b. May 31  c. Jun 1  d. Jun 2 
cyfk; KOtjpYk; rh;tNjr vtnu];l; jpdk; vd;iwf;F mDrhpf;fg;gLfpwJ? 
a. Nk 29  b. Nk 31  c. [{d; 1  d. [{d; 2 
 

19. What is the name of the technology-based platform launched by the indian prime minister, 
for MSMES? 
a. Champions  b. Jeevan  c. Nirbhar  d. Udyog 
FW rpW kw;Wk; eLj;ju njhopy; epWtdq;fSf;fhf ,e;jpag; gpujkuhy; njhlq;fp itf;fg;gl;l> 
njhopy;El;gk; mbg;gilapyhd Nkilapd; ngah; vd;d? 
a. rhk;gpad;fs;  b. [{td;  c. eph;gh;  d. cj;Nahf; 
 

20. Which Indian writer won the regional award for Asia of the commonwealth short story prize, 
2020? 
a. Kritika pandey b. Madhuri Vijai c. Kravind adiga  d. Vikram seth 
fhkd;nty;j; rpWfijfs; ghpR> 2020y; Mrpa gpuhe;jpaj;jpw;fhd tpUij ve;j ,e;jpa 
vOj;jhsh; ntd;whh;? 
a. fpUj;jpfh ghz;Nl b. khJhp tp[a; c. mutpe;jjpfh  d. tpf;uk;Nrj; 
 

21. Indian naval ship kesari reached which country to provide essential medicines under mission 
sagar? 
a. Thailand  b. Sri lanka  c. Seychelles  d. Australia 
rhfh; jpl;lj;jpd;fPo;> mtrufhy kUe;Jfis toq;Ftjw;fhf ,e;jpa flw;gilf; fg;gy; Nfrhp 
ve;j ehl;ilr; nrd;W mile;jJ? 
a. jha;yhe;J  b. ,yq;if  c. nrnry;];  d. M];jpNuypah 
 

22. Who is the first Indian to win the prestigious Richard Dawkins award? 
a. Arundhati Roy  b. Javed Akhtar 
c. Gulzar    d. Chandi, Prasad Bhatt 
ngUikf;Fhpa hpr;rh;L lhf;fpd;]; tpUijg; ngw;w Kjy; ,e;jpah; ahh;?  
a. mUe;jjp uha;   b. [htpj; mf;jh; 
c. Fy;rh;    d. re;jp> gpurhj; gl; 
 

23. Who is the chairperson of the committee reconstituted to look into the welfare of freedom 
fighters? 
a. NK Singh    b. G. Kishan Reddy 
c. Ajay Kumar Bhalla   d. Nityanand Rai 
Rje;jpug; Nghuhl;l tPuh;fspd; eyd;fisg; NgZtjw;fhf khw;wp mikf;fg;gl;l FOtpd; jiyth; 
ahh;? 
a. vd;.Nf. rpq;    b. [p. fp~d; nul;b 
c. m[a; Fkhh; gy;yh   d. epj;ahde;j uha; 
 

24. Which Indian state has formed a dedicated commission to create employment opportunities 
for the migrant labourers? 
a.  Odisha  b.  Maharashtra  c.  Uttar Pradesh   d.  Bihar 
,lk;ngaUk; njhopyhsh;fSf;F Ntiytha;g;ig cUthf;Ftjw;nfd jdpahdnjhU> 
Mizaj;ij ve;j khepyk; Njhw;Wtpj;Js;sJ? 
a. xbrh  b. kfhuh~;buk;  c. cj;jug; gpuNjrk;   d. gPfhh; 
 
 



 

5 | Page APPOLO STUDY CENTRE 044-24339436, 42867555, 9840226187 
 

25. Who has been conferred with the lifetime achievement award for his contribution to 
statistics? 
a. D Subba Rao  b.  C Rangarajan  c. Bimal Jalan  d.  Y V Reddy 
Gs;spapaYf;F jhd; Mw;wpa gq;fspg;Gf;fhf tho;ehs; rhjidahsh; tpUJ toq;fg;gl;lth; ahh;? 
a. b. Rg;gh uha;  b.  rp. nuq;fuh[d;  c. gPky; [yhd; d.  xa;.tp. nul;b 
 

26. Who has been appointed as the new prime minister of France? 
a.  Jean Castex   b.  Emmanuel Macron 
c.  Edouard Philippe  d.  Mikhail Mishustin 
gpuhd;rpd; Gjpa gpujkuhf epakpf;fg;gl;lth; ahh;? 
a. [Pd; fh];nlf;];  b. ,k;khDNty; kf;Nuhd; 
c. vl;nlsthh;L gpypg;  d. kpf;ify; kp~{];bd; 
 

27. ‘Mission Vriksharopan’ is a plantation initiative of which Indian state? 
a.  Uttar Pradesh  b.  Bihar  c.  West Bengal  d.  Chhattisgarh 
‘kp~d; tpUf;~Nuhgd;’ vd;gJ ve;j khepyj;jpd; kuk; eLk; Kaw;rp?  
a. cj;jug; gpuNjrk; b. gPfhh;  c. Nkw;F tq;fhsk;  d. rj;jP];fh; 
 

28. Which state has the highest court of inbred tigers in the country, as per the national centre for 
biological science? 
a. Madhya Pradesh b. Rajasthan  c. West Bengal  d. Karnataka 
Njrpa caphpay; mwptpay; ikaj;jpd;gb> ve;j khepyj;jpy; cs;fyg;G Gypfspd; vz;zpf;if 
kpfTk; mjpfk;? 
a. kj;jpag; gpuNjrk; b. uh[];jhd;  c. Nkw;F tq;fhsk;  d. fh;ehlfh 
 

29. Which country has notified the United Nations about its withdrawal from the World Health 
Organisation (WHO)? 
a.  China  b.  Russia  c. United States  d. Germany 
ve;j ehL cyf Rfhjhu mikg;gpypUe;J jhd; tpyfpf;nfhs;s tpUk;Gtjhf If;fpa ehLfs; 
mikg;gplk; mwptpg;G nra;Js;sJ? 
a.  rPdh  b.  u~;ah  c. mnkhpf;fh   d. n[h;kdp 
 

30. The Union Defence Minister of India has inaugurated six major bridges in which state/UT? 
a.  Sikkim     b.  Jammu & Kashmir 
c.  Arunachal Pradesh   d.  Uttar Pradesh 
kj;jpa ghJfhg;Gj; Jiw mikr;rh; ve;j khepyj;jpy; / a+dpad; gpuNjrj;jpy; MW Kf;fpa 
ghyq;fisj; jpwe;J itj;Js;shh;? 
a.  rpf;fpk;    b.  [k;K fh~;kPh; 
c.  mUzhryg; gpuNjrk;  d.  cj;jug; gpuNjrk; 
 

31. Who has been named as the recipient of the 2020 Von Karman Award of the International 
Academy of Astronautics? 
a.  Dr K Sivan    b.  Dr G Satheesh Reddy 
c.  Tessy Thomas    d.  Ritu Karidhal 
rh;tNjr tpz;ntsp mfhlkpapd; 2020Mk; Mz;Lf;fhd nthd; fh;kd; tpUJf;Fj; Njh;T 
nra;ag;gl;Ls;sth; ahh;? 
a.  lhf;lh;.Nf. rptd;   b.  lhf;lh;. [p. rjP~; nul;b 
c. nu];]p jhk];   d. hPj;J fhpjhy; 
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32. Which state government has launched the ‘Operation Muskaan’, to trace missing children? 
a.  West Bengal    b.  Maharashtra 
c.  Andhra Pradesh   d.  Gujarat 
fhzhky; Nghd Foe;ijfisf; fz;Lgpbg;gjw;fhf> ‘MgNu~d; K];fhd;’ vd;w jpl;lj;ij 
ve;j khepy muR njhlq;fp itj;Js;sJ? 
a.  Nkw;F tq;fhsk;   b.  kfhuh~;buh 
c.  me;jpug; gpuNjrk;   d.  F[uhj; 
 

33. Which country has launched its spacecraft to Mars named ‘Hope’? 
a.  Israel     b.  North Korea 
c.  United Arab Emirates  d.  China 
jd;dk;gpf;if (Hope) vd;W ngahplg;gl;Ls;s jd;Dila tpz;ntsp Xlj;ij nrt;tha; 
fpufj;jpw;F ve;j ehL mDg;gp itj;Js;sJ? 
a.  ,];Nuy;    b.  tl nfhhpah 
c.  If;fpa muG vkpNul;Lfs;  d.  rPdh 
 

34. When is ‘Global Tiger Day’ celebrated across the world every year? 
a.  July 27  b.  July 29   c.  July 31  d.  August 1 
cyfk; KOtJk; xt;nthU Mz;Lk; ‘cyf Gypfs; ehs;’ vg;NghJ nfhz;lhlg;gLfpwJ?  
a.  [_iy 27 b.  [_iy 29   c.  [_iy 31  d.  Mf];l; 1 
 

35. When is Sanskrit Diwas (Sanskrit Day) 2020 celebrated? 
a.  August 3  b.  August 4  c.  August 5  d.  August 6 
rk];fpUj ehs; 2020 vg;NghJ nfhz;lhlg;gLfpwJ? 
a. Mf];l; 3  b. Mf];l; 4  c. Mf];l; 5  d. Mf];l; 6 
 

36. When is the ‘World Biofuel Day’ is celebrated every year? 
a.  8th August  b.  9th August c.  10th August  d.  11th August 
xt;nthU Mz;Lk; ‘cyf caphp vhpnghUs; ehs;’ vg;NghJ mDrhpf;fg;gLfpwJ?  
a. 8 Mf];l;  b. 9 Mf];l;  c. 10 Mf];l;   d. 11 Mf];l; 

 
37. Which Indian state is the top performer in implementation of Atal Mission for Rejuvenation 

and Urban Transformation Scheme (AMRUT)? 
a. West Bengal  b. Gujarat  c. Odisha  d. Maharashtra 
Gj;Jzh;r;rp kw;Wk; efh;g;Gw khw;w ml;ly; kp~d; jpl;lj;ijr; nray;gLj;Jtjpy; Kd;dzpapy; 
cs;s ,e;jpa khepyk; vJ? 
a. Nkw;F tq;fhsk; b. F[uhj;  c. xbrh  d. kfhuh~;buh 
 

38. What is the name of the e-portal launched by the Tribal Ministry for promoting tribal health? 
a.  Aarogya  b.  Swasthya   c.  Vandana  d. Tribal Raksha 
goq;Fbapdh; Rfhjhuj;ij Nkk;gLj;Jtjw;fhf goq;Fbapdh; ey mikr;rfk; njhlq;fp 
itj;Js;s ,-Nghh;l;lypd; ngah; vd;d? 
a. MNuhf;fpah  b.  ];t];j;jpah  c.  te;jdh  d. biugy; uf;~h 
 

39. Which city has won the cleanest city award in the Swachh Survekshan 2020 survey? 
a. Surat  b.  Indore  c.  Navi Mumbai  d.  Trichy 
J}a;ik rh;Nt 2020 fzf;nfLg;gpy; kpfTk; J}a;ikahd efuj;jpw;fhd tpUij ntd;w efuk; 
vJ?  
a. #uj;  b.  ,e;J}h;  c.  etp Kk;ig  d.  jpUr;rp 
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40. Which state launched a subsidized meal scheme named ‘Indira Rasoi Yojana’? 
a.  Chhattisgarh  b.  Rajasthan  c.  Punjab  d. Telangana 
‘,e;jpuh uNrha; Nah[dh’ vd;w khdpa tpiy czTj; jpl;lj;ij ve;j khepyk; njhlq;fp 
itj;Js;sJ? 
a.  rj;jP~;fh;  b. uh[];jhd;  c. gQ;rhg;  d. njYq;fhdh 
 

41. Which state has the highest number of women beneficiaries under the MUDRA Loan scheme? 
a.  Kerala   b. Karnataka  c. Andhra Pradesh  d. Tamil Nadu 
Kj;uh fld; jpl;lj;jpd;fPo; ehsJ tiu> mjpf vz;zpf;ifapyhd ngz; gadhspfisf; 
nfhz;l khepyk; vJ? 
a.  Nfush  b. fh;ehlfh  c. Me;jpug; gpuNjrk;  d. jkpo;ehL 
 

42. What is the name of the longest serving warship of Indian Navy, that is to be dismantled? 
a. INS Viraat  b.  INS Vikrant c. INS Vishal  d. INS Vikram 
,e;jpa flw;gilapy; kpf mjpf fhyk; Nritahw;wp> jw;NghJ mfw;wg;gl cs;s Nghh;f;fg;gypd; 
ngah; vd;d? 
a. Ivd;v]; tpuhl;  b.  Ivd;v]; tpf;uhe;j;  
c. Ivd;v]; tp~hy;  d. Ivd;v]; tpf;uk; 
 

43. The Central Government Health Scheme (CGHS) has initiated teleconsultation services using 
which platform? 
a.  e-Sanjeevani   b.  Aarogya Raksha 
c. Aarogya Setu   d.  Corona Kavach 
kj;jpa murpd; Rfhjhuj; jpl;lk; ve;j jsj;ijg; gad;gLj;jp njhiy MNyhrid Nritfisj; 
njhlq;fp itj;Js;sJ? 
a.  ,-rQ;rPtdp   b.  MNuhf;fpa uf;~h 
c. MNuhf;fpa NrJ  d.  nfhNuhdh ftr; 
 

44. Which government scheme has recently completed six years since inception? 
a.  Atal Pension Yojana    b.  PM Jan Dhan Yojana 
c.  PM Jeevan Jothi Bima Yojana  d. Atal Bujal Mission  
kj;jpa murpd; ve;jj; jpl;lk; mJ njhlq;fp itf;fg;gl;L MW Mz;Lfis rkPgj;jpy; epiwT 
nra;Js;sJ? 
a.  ml;ly; ngd;~d; Nah[dh   b.  gpujkhpd; [d;jd; Nah[dh 
c.  gpujkhpd; [{td; N[hjp gpkh Nah[dh d. ml;ly; G[y; kp~d;  

 
45. Name the country which has become the 1st ‘Dark Sky Place’ by International Dark-Sky 

Association? 
a. New Zealand  b. Tonga  c. Samoa  d. Niue 
rh;tNjr fU-thd; $l;likg;gpy; (Dark-Sky Association) KjyhtJ fU thd ,lkhf 
Nrh;e;Js;s ehl;bd; ngah; vd;d? 
a. epa+rpyhe;J  b. Njhq;fh  c. rNkhth  d. epa;a+ 
 

46. Which state government launched ‘Operation shield’ to combat COVID-19? 
a. Maharashtra  b. Uttar Pradesh  c. Odisha  d. Delhi 
Nfhtpl;-19I vjph;nfhs;tjw;fhf ve;j khepy muR ‘MgNu~d; ~Py;L’ vd;w jpl;lj;ijj; 
njhlq;fp itj;Js;sJ? 
a. kfhuh~;buh  b. cj;jug;gpuNjrk;  c. xbrh  d. nly;yp 
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47. Name the Indian-origin girl who named NASA’s pioneering Mars Helicopter ‘Ingenuity’ 
which will be the first aircraft to fly to another planet? 
a. Gunjan Verma   b. Vaneeza Rupani 
c. Shruti Seth   d. Sunita Singh 
,d;ndhU fpufj;jpw;Fg; gazk; nra;af; $ba KjyhtJ tpkhdkhfpa ehrhtpd; Kd;Ndhb 
nrt;tha; n`ypfhg;lUf;F ‘Gj;jp $h;ik’ (Ingenuity) vd;W ngah; itj;j ,e;jpa tk;rhtspg; 
ngz;zpd; ngah; vd;d? 
a. FQ;rd; th;kh   b. ntdPrh Ughdp 
c. ];Ujp Nrj;   d. Rdpjh rpq; 
 

48. Which state launched “Mukhya Mantri Shahari Rozgar Guarantee Yojna”? 
a. Assam  b. Mizoram  c. Manipur  d. Himachal Pradesh 
‘Kjyikr;rh; efh;g;Gw Ntiytha;g;G cWjpaspg;Gj; jpl;lk;’ I njhlq;fp itj;Js;s khepyk; 
vJ? 
a. m];]hk; b. kpNrhuk;  c. kzpg;g+h;  d. ,khryg; gpuNjrk; 
 

49. What is the name of Russia’s first satellite which will monitor the Arctic climate? 
a. Arktika M  b. Arctic R  c. Kobalt  d. Skektr R 
Mh;f;bf; fhyepiyiaf; fz;fhzpf;Fk; u~;ahtpd; KjyhtJ nraw;iff; Nfhspd; ngah; vd;d? 
a. Mh;f;bfh vk;  b. Mh;f;bf; Mh; c. Nfhghy;l;  d. Skektr Mh; 
 

50. In June 2020, which country has become the 4th country to host a deep space ground station 
after the US, Spain and Australia? 
a. India   b. China  c. South Africa  d. Russia 
mnkhpf;fh> ];ngapd; kw;Wk; M];jpNuypah ehLfisj; njhlh;e;J [{d; 2020y; Mokhd 
tpz;ntsp jiu epiyaj;ij elj;j cs;s 4tJ ehL vJ?  
a. ,e;jpah  b. rPdh  c. njd; Mg;gphpf;fh  d. u~;ah 
 

51. Which of the following railway zones developed ‘Rail-Bot’? 
a. Northern Railway  b. North Eastern Railway 
c. Western Railway  d. South Central Railway 
gpd;tUk; uapy;Nt kz;lyq;fspy; ve;j kz;lyk; ‘uapy; Nghl;’I cUthf;fpAs;sJ? 
a. tlf;F ,uapy;Nt  b. tlfpof;F ,uapy;Nt 
c. Nkw;F ,uapy;Nt  d. njd; kj;jpa ,uapy;Nt 
 

52. Recently, who became Kerala’s First Woman DGP? 
a. R Sreelekha  b. Sreelakshmi Nair  c. Laxmi Mishra  d. Naina Singh 
rkPgj;jpy; Nfushtpd; Kjy; ngz; b[pgp Mf Mdth; ahh;? 
a. Mh; =Nyfh  b. =yf;~;kp ehah;  c. yf;~;kp kp~;uh  d. iedh rpq; 
 

53. In May 2020, a cyclone named Amphan hit and devastated vast mangrove forests in which of 
the following states? 
a. Andhra Pradesh b. Maharashtra c. West Bengal  d. Tamil Nadu 
Nk 2020y;> mk;gd; vd;w #whtsp ve;j khepyj;jpy; cs;s gue;j khq;FNuht; fhLfis jhf;fp 
mopj;Js;sJ? 
a. Me;jpug; gpuNjrk; b. kfhuh~;buh c. Nkw;F tq;fhsk;  d. jkpo;ehL 
 

54. ‘Social Bubbles’ one of the ways of effective social distancing strategies to keep the Covid-19 
curve flat is based on the ‘household bubble’ model of which country? 
a. Italy   b. South Korea  c. Norway  d. New Zealand 
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Nfhtpl;-19 tisit jl;ilahf itj;jpUf;f gaDs;s r%f njhiyJ}u cj;jpfspd; topfspy; 
xd;whfpa ‘r%f Fkpo;fs;’ ve;j ehl;bd; ‘tPl;Lf; Fkpop’ khjphpia mbg;gilahff; nfhz;lJ? 
a. ,j;jhyp  b. njd; nfhhpah  c. ehh;Nt  d. epa+rpyhe;J 
 

55. The headquarter of India’s first online delivery based natural gas trading platform named as 
Indian Gas Exchange (IGX) is located at 
a. Lucknow  b. New Delhi  c. Mumbai  d. Ahmedabad 
,e;jpa vhpthA ghpkhw;wk; (Indian Gas Exchange) vd;W ngahplg;gl;Ls;s ,e;jpahtpd; 
KjyhtJ Md;iyd; tpepNahf mbg;gilapyhd ,aw;if vhpthA th;j;jf jsj;jpd; 
jiyikaplk; ve;j ,lj;jpy; mike;Js;sJ? 
a. yf;Ndh   b. GJ nly;yp  c. Kk;ig  d. mfkjhghj;  
 

56. India ranked at which position, in terms of FDI in 2019 as per ‘World Investment Report 2020’ 
by UNCTAD? 
a. 12th  b. 9th   c. 14th   d. 16th 
UNCTAD mikg;G ntspapl;Ls;s ‘cyf KjyPl;L mwpf;if 2020’d;gb> me;epa Neub KjyPL 
2019 mbg;gilapy; ,e;jpah vj;jidahtJ ,lj;jpy; cs;sJ?  
a. 12tJ  b. 9tJ  c. 14tJ  d. 16tJ 
 

57. Recently, which space agency has finalized the design of the Habitation and Logistics Outpost 
(HALO) for its Gateway Lunar Orbiting Outpost? 
a. NASA  b. SpaceX   c. ISRO  d. ESA 
rkPgj;jpy;> ve;j tpz;ntsp epWtdk; jd;Dila Eiothapy; re;jpu Rw;Wg;ghij Gwf;fhty; 
epiyaj;jpw;fhd (Gateway Lunar Orbiting Outpost) tho;tplk; kw;Wk; jsthlq;fs; Gwf;fhty; 
epiyaj;jpd; (Habitation and Logistics Outpost) tbtikg;ig ,Wjp nra;Js;sJ? 
a. ehrh  b. ];Ng]; vf;];  c. ,];Nuh  d. <rh  
 

58. Which of the following railway zones has launched ‘Captain Arjun’ Al-based robots to 
intensify surveillance and screening of passengers? 
a. Northern Railway   b. South Central Railway  
c. Central Railway   d. North Eastern Railway 
gazpfspd; fz;fhzpg;G kw;Wk; ghpNrhjidia jPtpug;gLj;Jtjw;fhf gpd;tUtdtw;Ws; ve;j 
uapy;Nt kz;lyk; nraw;if Ez;zwpT mbg;gilapyhd ‘Nfg;ld; mh;[{d;’ NuhNghf;fis 
mwpKfg;gLj;jpAs;sJ? 
a. tlf;F ,uapy;Nt   b. tl kj;jpa ,uapy;Nt  
c. kj;jpa ,uapy;Nt   d. tl fpof;F ,uapy;Nt 

 
59. Find out the correct pair 

a. Khel Ratna Award  - Ranjith Kumar 
b. Dyanchand Award   - Mariyappan Thangavelu 
c. Arjuna Award  - Dutee Chand 
d. Dronacharya Award - Manjith Singh 
rhpahd ,iziaf; fhz;f 
a. Nfy;uj;dh tpUJ  - uQ;rpj; Fkhh; 
b. jpahd;re;; tpUJ  - khhpag;gd; jq;fNtY 
c. mh;[{dh tpUJ  - Ll;b re;j; 
d. JNuhzhr;rhh;ah tpUJ - kQ;rpj; rpq; 
 

60. The state archaeology department – unearthed 13 burial urns at __________ 
a. Sivagalai  b. Kheezhadi  c. Kodumanal d. Aadhichanallur 
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rkPgj;jpy; khepy njhy;ypay; Jiw 13 KJkf;fs;jhopia vq;F fz;nlLj;jJ? 
a. rptfiy  b. fPob  c. nfhLkzy;  d. Mjpr;rey;Y}h; 
 

61. The ratio of boys to girls in a class is 7 : 8. If the number of boys is 56. then, find the number of 
girls.  
a. 60   b. 62   c. 64   d. 66  
xU tFg;gpy;; Mz;fs; kw;Wk; ngz;fspd; tpfpjk; 7 : 8 MFk;. Mz;fspd; vz;zpf;if 56 
vdpy; ngz;fspd; vz;zpf;if vd;d?  
a. 60   b. 62   c. 64   d. 66  
 

62. If A : B = 7 : 4, B : C = 7 : 6 then find A : B : C?  
a. 56 : 28 : 24  b. 49 : 28 : 24  
c. 48  : 24 : 28   d. 28 : 49 : 24  
A : B = 7 : 4, B : C = 7 : 6 vdpy; A : B : C d; kjpg;G fhz;f. 
a. 56 : 28 : 24  b. 49 : 28 : 24  
c. 48  : 24 : 28   d. 28 : 49 : 24  

 
63. If A : B = 4 : 5 B : C = 6 : 7 C : D = 2 : 4 then find A : B : C : D  

a. 24 : 30 : 35 : 70   b. 24 : 35 : 30 : 70  
c. 24 : 70 : 35 : 30    d. 30 : 70 : 35 : 34  
A : B = 4 : 5 B : C = 6 : 7 C : D = 2 : 4 vdpy; A : B : C : D d; kjpg;G fhz;f.  
a. 24 : 30 : 35 : 70   b. 24 : 35 : 30 : 70  
c. 24 : 70 : 35 : 30    d. 30 : 70 : 35 : 34  

 
64. If a : b = 4 : 7, b : c = 21 : 25 then find  

2 2

2 2

c  - b  

c  + b  
 = ? 

a. 
90

530
  b. 

92

533
  c. 

89

489
  d. 

184

1066
 

 
65. Three numbers are in the ratio 3 : 5 : 7 and their average is 90. Find the smallest number?  

a. 50   b. 54   c. 42   d. 30  
%d;W vz;fs; 3 : 5 : 7 vd;w tpfpjj;jpy; cs;sd. mtw;wpd; ruhrhp 90 vdpy; mt;ntz;fspy; 
kpfr;rpwpa vz;?  
a. 50   b. 54   c. 42   d. 30  

 
66. Salaries of Ram and Murugan are in the ratio 2 : 3. If the salary of each is increased by Rs. 

4000 the new ratio becomes 40 : 57. What is Murugan's salary?  
a. 50000   b. 36700  c. 46800  d. 38000 
uhk; kw;Wk; KUfdpd; rk;gsk; 2 : 3 vd;w tpfpjj;jpy; cs;sJ. NkYk; $Ljyhf ,UtUf;Fk; 
& 4000 rk;gsk; cah;j;Jk; nghOJ mtw;wpd; tpfpjk; 40 : 57 MfpwJ vd;why; KUfdpd; 
rk;gsk; vd;d?  
a. 50000   b. 36700  c. 46800  d. 38000 

 
67. A bag contains 50p, 25p, and 10p coins in the ratio 5 : 9 : 4, amounting to Rs. 206. Find the 

total number of coins in the bag?  
a. 540   b. 600   c. 720   d. 800  
xU igapy; 50p, 25p, kw;Wk; 10p Mfpa ehzaq;fs; 5 : 9 : 4 vd;w tpfpjj;jpy; cs;sd. 
mitfspd; nkhj;j kjpg;G & 206 vdpy; mg;igapy; cs;s nkhj;j ehzaq;fspd; 
vz;zpf;ifia fhz;f?  
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a. 540   b. 600   c. 720   d. 800  
 

68. Salaries of A, B, and C are in the ratio 2 : 3 : 5 respectively. If their salaries were increased by 
15%, 10%, and 20% respectively what will be the new respective ratio of their salaries?  
a. 23 : 33 : 60   b. 24 : 33 : 64   c. 22 : 33 : 55  d. 10 : 11 : 14  
A, B kw;Wk; C rk;gsk; KiwNa 2 : 3 : 5 vd;w tpfpjj;jpy; cs;sd. mth;fspd; rk;gsk; 
KiwNa 15%, 10% kw;Wk; 20% mjpfhpj;jpUe;jhy; mth;fspd; rk;gsj;jpd; Gjpa tpfpjk; vd;d?  
a. 23 : 33 : 60   b. 24 : 33 : 64   c. 22 : 33 : 55  d. 10 : 11 : 14  

 
69. The ratio between the present ages of Ram and Arun is 2 : 5 respectively. After 6 years Ram's 

age will be 30 years. Find Arun's present age?  
a. 50   b. 60   c. 64  d. 30  
uhk; kw;Wk; mUzpd; jw;Nghija taJ tpfpjk; 2 : 5 uhkpd; taJ 6 Mz;LfSf;F gpd;G 30> 
vdpy; mUzpd; jw;Nghija taJ vd;d?  
a. 50   b. 60   c. 64  d. 30  

  
70. The average age of a Father and his son is 36 years. The ratio of their ages is 5 : 1 respectively. 

What will be the son's age?  
a. 11   b. 12   c. 13  d. 14  
je;ij kw;Wk; mtuJ kfdpd; ruhrhp taJ 36. mth;fspd; taJ tpfpjk; 5 : 1. vdpy; kfdpd; 
jw;Nghija taJ vd;d? 
a. 11   b. 12   c. 13  d. 14  

 
71. The ages of vijay and kamal are in the ratio 15 : 17 respectively. After 6 years the ratio of their 

ages will be 9 : 10. What will be the age of vijay after 6 years?  
a. 40   b. 30   c. 34   d. 36  
tp[a; kw;Wk; fkypd; jw;Nghija taJ tpfpjk; 15 : 17 6 Mz;LfSf;f gpd; mth;fsJ taJ 
tpfpjk; 9 : 10 vdpy; 6 Mz;LfSf;F gpd; tp[apd; taJ vd;d?  
a. 40   b. 30   c. 34   d. 36  

 
72. The ratio of ages of three numbers is 3 : 4 : 5 and the sum of theirs squares is 1250. Find the 

sum of the numbers?  
a. 30   b. 50   c. 60   d. 90  
%d;W vz;fspd; tpfpjk; 3 : 4 : 5 kw;Wk; mtw;wpd; th;f;fq;fspd; $l;Lj; njhif 1250 vdpy; 
me;j vz;fspd; $l;Lj;njhif fhz;f?  
a. 30   b. 50   c. 60   d. 90  

 
73. Ram is 40 years old and Ranjith is 60 years old. How many years ago was the ratio of their 

ages is 3 : 5?  
a. 5   b. 10   c. 20  d. 37  
uhkpd; jw;Nghija taJ 40> uQ;rpj;jpd; taJ 60 vj;jid tUlq;fs; Kd;G mth;fspd; taJ 
3 : 5 tpfpjk; Mf ,Uf;Fk;?  
a. 5   b. 10   c. 20  d. 37  

 
74. The present age of father is 4 times the sum of the present ages of his two sons. 10 years hence 

the fathers age is 2 times the sum of present age of his two sons. Find father's present age?  
a. 50 years   b. 55 years   c. 60 years  d. 65 years  
xUthpd; jw;Nghija taJ mthpd; ,U kfd;fspd; taJfspd; $l;Lj;njhifiag; Nghy; 4 
klq;F cs;sJ. 10 tUlq;fSf;F gpwF mthpd; taJ ,U kfd;fspd; taJfspd; 
$l;Lj;njhifiag; Nghy; 2 klq;F MFk; vdpy; mthpd; jw;Nghija taJ vd;d?  
a. 50 tUlk;   b. 55 tUlk;  c. 60 tUlk;  d. 65 tUlk; 
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75. The present age of Ram is 6 times his son's age. 4 years hence age of Ram is 4 times his son's 
age. Find the present age of Ram?  
a. 36 yrs  b. 30 yrs   c. 24 yrs  d. 28 yrs  
uhk; vd;gthpd; taJ jd; kfdpd; taijg; Nghy; 6 klq;F> 4 tUlq;fs; fopj;J mthpd; taJ 
kfd; taijg; Nghy 4 klq;F vdpy; uhkpd; jw;Nghija taJ vd;d?  
a. 36  b. 30   c. 24   d. 28 

 
76. A boy is twice as old as his sister. four years ago he was thrice as old as her. what are their 

ages now?  
a. 18, 9  b. 14, 7  c. 16, 8  d. 12, 6  
xUtd; jd; rNfhjhpia tpl ,uz;L klq;F taJ mjpfk;. ehd;F tUlq;fSf;F Kd;G mtd; 
jd; rNfhjhpia tpl %d;W klq;F taJ mjpfk; vdpy; jw;nghOJ mth;fspd; taJ vd;d?  
a. 18, 9  b. 14, 7  c. 16, 8  d. 12, 6  

  
77. If 30 men take 80 days to complete a work, how long will it take if 30 more men join them to 

complete the same work?  
a. 20 days   b. 40 days   c. 60 days   d. 45 days  
30 Mz;fs; xU Ntiyia Kbf;f 80 ehs;fs; vLj;Jf; nfhs;th;. vdpy; mth;fSld; NkYk; 
30 Mz;fs; Nrh;e;jhy; mNj NtiyahdJ Kba vj;jid ehs;fs; MFk;?  
a. 20 ehl;fs;  b. 40 ehl;fs;  c. 60 ehl;fs;  d. 45 ehl;fs;  

 
78. 3 women or 7 men can construct a room in 88 days. How long will it take for 6 women and 8 

men to do the same type of room?  
a. 27 days   b. 28 days   c. 29 days   d. 30 days  
3 ngz;fs; my;yJ 7 Mz;fs; Xh; miwia 88 ehs;fspy; fl;b Kbg;gh;. mJ Nghd;w 
miwia 6 ngz;fs; kw;Wk; 8 Mz;fs; fl;b Kbf;f vj;jid ehs;fs; MFk;.  
a. 27 ehl;fs;  b. 28 ehl;fs;  c. 29 ehl;fs;  d. 30 ehl;fs;  

 
79. A and B together can do a piece of work in 32 days and A alone can do it in 48 days. How 

long will B done to complete the work?  
a. 48  B. 96   C. 90   D. 84 
A kw;Wk; B Mfpa ,UtUk; ,ize;J xU Ntiyia 32 ehs;fspy; Kbg;gh;. A jdpNa me;j 
Ntiyia 48 ehs;fspy; Kbg;gh; vdpy; B jdpNa me;j Ntiyia vj;jid ehl;fspy; 
Kbg;ghh;?  
a. 48  B. 96   C. 90   D. 84 

 

80. A and B can do a piece of work in 20 days and 30 days respectively. They started the work 
together and B left after some days of work and A finished the remaining work in 5 days. 
after how many days B left?  
a. 8   b. 9   c. 10   d. 11 
A kw;Wk; B MfpNahh; xU Ntiyia KiwNa 20 kw;Wk; 30 ehs;fspy; Kbg;gh; mth;fs; 
,UtUk; xd;whfr; Nrh;e;J Ntiyiaj; njhlq;fpdhh;. rpy ehs;fs; Ntiy nra;j gpwF B 
Mdth; nrd;WtpLfpwhh; kPjKs;s Ntiyia A Mdth; 5 ehl;fspy; Kbf;fpwhh; vdpy; 'B" 
vj;jid ehs;fSf;F gpwF Ntiyia tpl;Lr; nrd;whh;?  
a. 8   b. 9   c. 10   d. 11 

 

81. A alone works for 3 days and B alone works for 6 days to complete the same work. How long 
will it take if they work together?  
a. 3   b. 4   c. 9   d. 2 
A vd;gth; xU Ntiyia 3 ehl;fSk; B vd;gth; 6 ehl;fSk; Kbg;ghh;fs; vdpy; ,UtUk; 
Nrh;e;J me;j Ntiyia vj;jid ehs;fspy; Kbg;ghh;fs;?  
a. 3   b. 4   c. 9   d. 2 
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82. A and B can do a certain piece of work in 10 days. B and C can do it in 12 days and C and A in 
20 days. In how many days A alone can do the same work?  
a. 25    b. 35   c. 30   d. 40  
A kw;Wk; B Nrh;e;J xU Ntiyia 10 ehl;fspy; Kbg;ghh;fs;> B kw;Wk; C Nrh;e;J 12 
ehl;fspy; Kbg;ghh;fs;> C kw;Wk; A 20 ehl;fspy; Kbg;ghh;fs; vdpy; A kl;Lk; me;j Ntiyia 
vj;jid ehl;fspy; Kbg;ghh;?  
a. 25    b. 35   c. 30   d. 40  

 
83. 30 men can do a piece of work in 10 days. In how many days 15 men can do the same work?  

a. 20 days   b. 25 days   c. 30 days   d. 15 days  
10 ehs;fspy; xU Ntiyia 30 Mz;fs; Kbg;ghh;fs; vdpy; 15 Mz;fs; mNj Ntiyia 
vj;jid ehs;fspy; Kbg;ghh;fs;?  
a. 20 ehl;fs;   b. 25 ehl;fs;  c. 30 ehl;fs;  d. 15 ehl;fs;  

 
84. If 3 men or 9 boys can finish a piece of work in 21 days. In how many days can 5 men and 6 

boys together do the same piece of work? 
a. 12 days   b. 9 days   c. 14 days   d. 15 days  
3 Mz;fs; my;yJ 9 khzth;fs; xU Ntiyia 21 ehs;fspy; Kbg;ghh;fs; vdpy;> 5 Mz;fs; 
kw;Wk; 6 khzth;fs; Nrh;e;J me;j Ntiyia vj;jid ehl;fspy; Kbg;ghh;fs;?  
a. 12 ehl;fs;  b. 9 ehl;fs;  c. 14 ehl;fs;  d. 15 ehl;fs;  

 
85. A person travelled at a distance with uniform speed of 9 km/hr and return to the starting 

point with the speed of 3 km / hr. Find the average speed of the whole Journey?  
a. 4.5 km / hr   b. 5.5 km/hr  c. 6 km/hr  d. 6.5 km/hr 
xUth; Fwpg;gpl;l J}uj;ij 9 fp.kP/kzp Ntfj;jpy; nry;Yfpwhh; jpUk;gp tUk; NghJ mNj 
J}uj;ij 3 fp.kP / kzp Ntfj;jpy; nrd;why; mthpd; ruhrhp Ntfk; vd;d?  
a. 4.5 fp.kP/kzp  b. 5.5 fp.kP / kzp c. 6 fp.kP / kzp  d. 6.5 fp.kP kzp  

 
86. A man can complete a journey in 10 hrs. He travels First half of the journey at the rate of 21 

km/hr and 2nd half of the journey at the rate of 24 km/hr find the total journey in km?  
a. 220 km   b. 224 km  c. 225 km  d. 228 km  
xUth; xU Fwpg;gpl;l J}uj;ij 10 kzp Neuj;jpy; flf;fpwhh;. mjpy; Kjy; ghjp J}uj;ij 21 
fp.kP / kzp Ntfj;jpYk; mLj;j ghjp J}uj;ij 24 fp.kP / kzp Ntfj;jpYk; fle;jhy; mth; 
fle;j nkhj;j J}uk; vt;tsT (in km)  
a. 220 fp.kP  b. 224 fp.kP  c. 225 fp.kP  d. 228 fp.kP  

 
87. A train covers a certain distance of at a speed of 200 km/hr in 5 hrs. to cover the same 

distance in 2 hrs it must travel at what speed?  
a. 600 km/hr   b. 500 km/hr  c. 550 km/hr  d. 450 km/hr 
xU njhlh;tz;b Fwpg;gpl;l J}uj;ij 200 km/hr Ntfj;jpy; 5 kzp Neuj;jpy; flf;fpwJ. vdpy; 
mNj J}uj;ij 2 kzp Neuj;jpy; flf;f njhlh;tz;b vt;tsT Ntfj;jpy; nry;y Ntz;Lk;?  
a. 600 fp.kP / kzp  b. 500 fp.kp / kzp  
c. 550 fp.kP / kzp   d. 450 fp.kP / kzp  

 
88. A truck covers a certain distance in 12 hours at the speed of 70 km/hr. What is the average 

speed of a car which travels at a distance of 120 km more than the truck in the same time?  
a. 76 km/hr  b. 85 km/hr  c. 82 km/hr  d. 80 km/hr  
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xU l;uf; 70 km/hr Ntfj;jpy; xU Fwpg;gpl;l J}uj;ij flf;f 12 kzp Neuk; vLj;J 
nfhs;fpwJ Mdhy; xU fhh; mNj Neuj;jpy; buf; nrd;w J}uj;ij tpl 120 km mjpfk; 
nry;fpwJ. vdpy; fhUila ruhrhp Ntfk; vt;tsT?  
a. 76 fp.kP / kzp  b. 85 fp.kp / kzp  c. 82 fp.kP / kzp  d. 80 fp.kP / kzp  

 
89. A person Walking 3/4 of his usual speed is 10 min late to his office. Find his usual time to 

cover the distance?  
a. 10 minutes   b. 50 minutes  c. 30 minutes  d. 40 minutes  
xU kdpjh; jd; ,ay;ghd Ntfj;jpy; ¾ Ntfk; gazk; nra;jhy; 10 epkplk; jhkjkhf 
mYtyfk; nry;thh; vdpy; mth; ,ay;ghf me;j J}uj;ij flg;gjw;F vLj;J nfhs;Sk; Neuk; 
vd;d?  
a. 10 epkplk;  b. 50 epkplk;  c. 30 epkplk;  d. 340 epkplk;  

 
90. A man travelled a distance of 61 km in 9 hours. He travelled partly by foot at 4 km/hr and 

partly on bicycle at 9 km/hr. Find the distance travelled on foot?   
a. 16 km  b. 18 km  c. 24 km  d. 10 km  
xU kdpjh; 61 fp.kPl;lh; J}uj;ij 9 kzp Neuj;jpy; flf;fpwhh;. mth; Fwpg;gpl;l J}uj;ij 4 fp.kP 
/ kzp Ntfj;jpy; ele;Jk; kPjKs;s J}uj;ij 9 fp.kP / kzp Ntfj;jpy; kpjptz;bapy; 
gazpf;fpwhh; vdpy; mth; ele;J gazk; nra;j J}uk; vd;d?  
a. 16 fp.kP   b. 18 fp.kP  c. 24 fp.kP  d. 10 fp.kP  
 

91. If man walks at 4 km/hr to an office he was late by 5 minutes. If he walks at 6 km/hr he 
reached office 8 minutes earlier. Find the distance travelled by him to an office?   
a. 2.7 km  b. 2.6 km  c. 2.4 km  d. 3 km  
xU egh; 4 fp.kP /kzp Ntfj;jpy; ele;jhy; 5 epkplk; jhkjkhf mYtyfj;jpw;F nry;thh;. gpd; 
mth; 6 fp.kP / kzp Ntfj;jpy; ele;jhy; 8 epkplk; Kd;djhfNt mYtyfj;jpw;F nry;thh; 
vdpy; mth; mYtyfj;jpw;F ele;J nrd;w J}uk; vt;tsT?  
a. 2.7 fp.kP  b. 2.6 fp.kP  c. 2.4 fp.kP  d. 3 fp.kP  

 
92. Excluding stoppage, the speed of a bus is 54 km/hr and including stoppage it is 45 km/hr. for 

how minutes does the bus stops per hour?  
a. 8   b. 10   c. 12   d. 13  
epWj;Jkplk; ,y;yhky; xU NgUe;jpd; Ntfk; 54 fp.kP / kzp kw;Wk; epWj;Jkplk; ,Ue;jhy; 

Ntfk; 45 fp.kP / kzp vdpy; kzpf;F vt;tsT epkplq;fs; NgUe;J epWj;jg;gl;lJ?  
a. 8   b. 10   c. 12   d. 13  
 

93. The average of six consecutive odd numbers is 46. What is the smallest of these numbers?  
a. 42   b. 43  c. 44   d. 41  
mLj;jLj;j MW xw;iwg;gil njhlh; vz;fspd; ruhrhp 46 vdpy; ,jpy; cs;s kpff; Fiwe;j 
vz;zpd; kjpg;gpidf; fhz;f?  
a. 42   b. 43  c. 44   d. 41  

 
94. Average of five consecutive even numbers is 280. What is the largest number among these? 

a. 284   b. 286  c. 280   d. 278 
Ie;J ,ul;ilg;gil njhlh; vz;fspd; ruhrhp 280 vdpy; mjpy; kpfg;nghpa vz;iz fhz;f?  
a. 284   b. 286  c. 280   d. 278 

 
95. The average of a group of men is increased by 8 years when a person aged 22 years is 

replaced by a new person of aged 62 years. How many men are there in the group? 
a. 6   b. 8   c. 4   d. 5 
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22 taJila xU egUf;F gjpyhf 62 taJila xU Gjpa egh; khw;wg;gLk; NghJ Mz;fs; 
FOtpd; ruhrhp 8 Mz;Lfs; mjpfhpf;fpwJ. vdpy; FOtpy; vj;jid Mz;fs; cs;sdh;?  
a. 6   b. 8   c. 4   d. 5 

  
96. The average age of three men A, B and C is 45 while the average age of three men B, D and E 

is 52 kg. What is the average age of A, B, C, D and E? 
a. 48   b. 50   c. 52  d. Data inadequate 
A, B, kw;Wk; C Mfpa %d;W Mz;fspd; ruhrhp taJ 45, B, D kw;Wk; E Mfpa %d;W 
Mz;fspd; ruhrhp taJ 52 kg vdpy; A, B, C, D kw;Wk; E – d; ruhrhp taJ vd;d?  
a. 48   b. 50   c. 52  d. juT NghJkhdjhf ,y;iy  

 
97. Average cost of 5 pen and 4 pencil is Rs. 36. The average cost of 7 pen and 8 pencil is Rs. 48.  

Find the total cost of 36 pen and 36 pencil. 
a. 3445  b. 3132  c. 3320  d. 3543 
5 Ngdh kw;Wk; 4 ngd;rpypd; ruhrhp tpiy & 36. 7 Ngdh kw;Wk; 8 ngd;rpypd; ruhrhp tpiy 
& 48. nkhj;jk; 36 Ngdh kw;Wk; 36 ngd;rpypd; tpiyiaf; fz;lwpaTk;?  
a. 3445  b. 3132  c. 3320  d. 3543 

 
98. The average age of four student is 15. If age 18 was misread as 10 during the calculations, 

what will be the correct average? 
a. 17   b. 18   c. 20   d. 16 
ehd;F khzth;fspd; ruhrhp taJ 15. fzf;fPl;bd; NghJ 18 taij 10 vd jtwhf 
gbj;jpUe;jhy;> rhpahd ruhrhp vd;dthf ,Uf;Fk;?  
a. 17   b. 18   c. 20   d. 16 

 
99. The average marks in English subject of a class of 24 students is 56. If the marks of three 

students were misread as 44, 45 and 61 of the actual marks 48, 59, 67 respectively, then what 
would be the correct average? 
a. 56.5  b. 59   c. 57.5  d. 57 
xU tFg;gpd; 24 khzth;fspd; Mq;fpyg; ghlj;jpd; ruhrhp kjpg;ngz;fs; 56. mjpy; %d;W 
khzth;fspd; cz;ikahd kjpg;ngz;fs; 48> 59 kw;Wk; 67 vd;gtjw;F gjpyhf 44> 45 kw;Wk; 
61 vd jtwhf fzf;fpl;L ,Ug;gpd; cz;ikahd ruhrhp kjpg;ngz;fs; vt;tsT?  
a. 56.5  b. 59   c. 57.5  d. 57 

 
100. The average age of a husband and wife was 23 when they were married 5 years ago. The 

average age of the husband, the wife and a child who was born during the interval is 20 years 
now. How old is the child now? 
a. 8 years  b. 4 years  c. 6 years  d. 10 years 
5 Mz;LfSf;F Kd;G jpUkzk; nra;J nfhz;lNghJ fztd; - kidtpapd; ruhrhp taJ 23 
MFk;. jw;nghOJ fztd;> kidtp. Foe;ij (,ilntspapy; gpwe;jhh;)-,d; ruhrhp taJ 20 
Mz;Lfs; vdpy; Foe;ijf;F ,g;NghJ vt;tsT taJ?  
a. 8 tUlk; b. 4 tUlk;  c. 6 tUlk;  d. 10 tUlk;  
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